ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Instruction Guide
Folding Shelves



https://www.carid.com/kargo-master/

ARGO ASTER

o SERCREE. 3. A Installation Instructions — Folding Shelves

*PLEASE READ ALL INSTRUCTIONS AND WARNINGS PRIOR TO ASSEMBLING, INSTALLING,
AND USING THIS PRODUCT.*

Warning

Always check for wires, fuel tanks and lines, brake lines and other important vehicle
functionality items prior to drilling and installing all products.

Tools Needed

7/16” Socket and Wrench 7/16”,9/16” Box Wrench
25/64” Drill Bit Drill
5/32” Allen Hex Wrench Plus Nut Installation Tool (P9902)

Table of Contents

o [ [T F= ] g T=] B =T R I SRR
8007 Parts LiST....ueeiiiiiiiiiiiiiiiiee ettt st r e s e e e s s b e e e s raa e e e eaas
HAIMOWATE ettt et e s e e s a bt e e s st e e e st e e e st e e e bt e e e bt e e eabeeesabeeesabeeeeabeeesaseeennbeesanneenas
Step 1 — Attach Upright Feet to OUter UPFigNtS ...c.uuiiiiiiiee ettt et e s e aaae e
Step 2 — Install Lower FOIAING Shelf ... ...ouiiiiieece e e st e e e st e e e e s aaaeeeenas
Step 3 — Attach Upright Feet to INNer UPFightS ...t e e e e
Step 4 — Temporarily Attach Inner Uprights to Quter Uprights .......ccccviiiieeeii e
SEEP 5 = INSLAIl PIUS NULS....eeiiieiieiieieeeee ettt e et e e e e e s e st e e e e e e e s e anraeaeeeeaeseesnnstaaneeeaeesenannsrsnens
Step 6 — Install Upper FOIdING SNEIT ... .. e e e e e e e e e e e e et re s e e e e e e e e e sannneeens
Step 7 — Install Upper and Lower Mounts t0 VENICIE .........uuvviiiieei ettt eecrnre e e e e 10
Step 8 — Install Mid-shelf MouNting Brackets..... .ot e e e e e e e aanr e 11

Before You Begin

e Read all instructions prior to assembling or installing any Kargo Master product.
e Always locate your installation locations prior to performing any work.
e ENSURE SAFETY WHILE INSTALLING OR DRILLING INTO VEHICLE.

Page 1



ARGO STER ) ) )
- wﬂ Installation Instructions — Folding Shelves
Folding Shelf Parts List
ITEM ITEM PART NUMBER DESCRIPTION | QTY
NO. :
1 FOLDING 5
4 SHELF
*48" Shelf shown here.
FOLDABLE SHELF
2 48007 UPRIGHT ONLY 2
ASSEMBLY
48007 Parts List
TEM ITEM PART NUMBER | DESCRIPTION |QIY.
S S
o o <\> <\>o o o
1 Z £ 1 UFU-00-003 Quter Upright 1
1 5’
S S
0o 0o 0 o 6\> %) 0o 0 0 o
2 <L 1 UFU-00-004 Inner Upright 1
] 7'
3 UFU-00-005 Upright Foot 2
Knock Down
4 4861-10-001 Upper Mount 1
Knock Down
S 4861-10-004 Connecting Strap ]
6 18-48007 Upright Bolt Kit 1
Page 2




vvvvvvvvvvv

NNNNNNNNNNNNNNNN

Installation Instructions — Folding Shelves

Hardware
ITEM HARDWARE TO SCALE PART NUMBER DESCRIPTION Qry.
| I VARXZILPT |
2 . 81057 BUTIONEAD | 4
; D oo | 1AL | g
; Cmn MRS | 8
5 @ 11541082 1/4 FLAT WASHER 26
6 @ 33618 1/4" LOCK WASHER | 12
7 @ 1/4"-20 I\II\IYJ.TOC JAM 4
8 :: @ NVLON INSERTNDT | 14
9 @ 72616 NYION | 4
SPACER
10 @ 041G NYION | 6
SPACER
1 @ H 2NN | 4
SPACER
12 |:h'= 1/4"-20 PLUS NUT 12
13 11517442 3/5?3"/'5'32 mY]Ii(S)ND X 4
SPACER

Page 3




ARGO ASTER

o SERCREE. 3. A Installation Instructions — Folding Shelves

Step 1 — Attach Upright Feet to Outer Uprights

e Using a 1/4”-20 x 2-1/4” hex head bolt, 1/4” washer, one 1/4” x 1.26” nylon spacer, and 1/4” flanged lock
nut, attach upright foot to the outer uprights. Be sure to bolt through the spacer.

e Repeat for opposite side.

—
{ | 0 0| (- e

] 0 0

N i i

T\ E

0 sl 1/47x1.26 ((E [\ @3

I NYLON SPACER
= LLV —

Step 2 — Install Lower Folding Shelf

e The following are typical height for the shelf from the bottom of the foot when closed.

- =
Te ° ° ° ° ° ° ° ° ° ° ° ° ° ° ° - o e e Y e ° - e | @ o 06 06 0 060 06 © 00 06 0 00 0 0 I
8= | 2|

Page 4



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Installation Instructions — Folding Shelves

e Remove the 1/4” x 3/4” button head screws,
1/4” x .11” nylon spacers, and 1/4” flanged lock @_@_ﬁ,m@
nuts from the shelf side mounting brackets on
each side of the pre-assembled folding shelf, as
shown. !

e For the lower shelf, the 1/4” spacers may not be
necessary for installation, so set them aside for
future use.

=

\

=
|

e Using the previously removed 1/4” x 3/4” button
head screws and 1/4” flanged lock nuts, attach
the lower shelf to the outer uprights.

o

Page 5



ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Installation Instructions — Folding Shelves

Step 3 — Attach Upright Feet to Inner Uprights

e Usinga 1/4”-20 x 2-1/4” hex head bolt, one 1/4” washer, one 1/4” x 1.04” nylon spacers, two 1/4” x .11”
nylon spacers, and one 1/4” flanged lock nut, bolt the upright foot to an outer upright in the furthest slot
from the bottom of the foot.

NOTE: Be sure the 1/4” x .11” spacers are between the feet and the inner upright.

e Repeat for opposite side.

— AN s
— | N\ 23) |

|

N~ LY A W |/
e\ 7|
\mﬁ Z

1/4” X 1.04” Q
NYLON SPACER

Step 4 — Temporarily Attach Inner Uprights to Outer Uprights

e Measure the height of upper installation location from the floor. o1 ©
e Insert inner upright into inside outer upright with the inner 0
upright top foot facing the rear of the shelf. ®
e Adjust height until upper foot is at the height measured.
e Usinga 1/4” x 2-1/8” button head screw and 1/4” flanged lock v
nut, bolt through outer upright and inner upright. ol o
e DO NOT tighten. Bolts will be removed in next step. 0
e Repeat for other upright.
0 0
0
- ©
Q
0 )

Page 6



GO STER
AR A Installation Instructions — Folding Shelves

WE PUT EVERYTHING WITHIN REACH.

Holding the assembled shelf upright in the installation position, mark onto the mounting surface the
location of the slots in the feet. Be sure shelving unit is flat and not twisted.

Set shelf unit aside.

) -+
m & MARK

i

Step 5 — Install Plus Nuts
DO NOT drill beyond depth of floor or upper installation surface. Always check for
wires, fuel tanks and lines, brake lines and other important vehicle functionality
items prior to drilling and installing all products.

At each marked location, drill hole using 25/64” drill bit and appropriate sized drill-bit stop collar. If
25/64” drill bit is not available, a 3/8” drill bit can be used, although it may be necessary to tap in the plus

nuts.

Page 7



ARGO ASTER

o SERCREE. 3. A Installation Instructions — Folding Shelves

e Insert 1/4” x 2-1/4” hex head bolt through 1/4” flat washer and plus nut installation tool, and then screw
bolt into plus nut. Knurled end of plus nut tool must be directed away from bolt head and contacting plus
nut.

e Insert plus nut with tool into hole.

e Using the 9/16” box wrench, hold the plus nut tool stationary and then tighten hex head bolt until plus
nut is tightly gripping and does not spin when hex bolt is loosened.

e DO NOT overtighten plus nut.

e Using the 9/16” box wrench, hold the plus nut tool stationary to remove the 1/4” hex head bolt.

o
) = Holp i

Step 6 — Install Upper Folding Shelf

e Remove the 1/4” x 2-1/8” button head screws and
1/4” flanged lock nuts previously temporarily
installed through inner and outer uprights.

e Remove the 1/4” x 3/4” button head screws,
1/4” x .11” nylon spacers, and 1/4” flanged lock
nuts from the shelf side mounting brackets on
each side of the pre-assembled folding shelf, as
shown.

e For the upper shelf, the 1/4” x .11” spacers will be
necessary for installation.

NOTE: Refer to previous diagram for typical
installation height of upper shelf.




ARGO ASTER

WE PUT EVERYTHING WITHIN REACH.

Installation Instructions — Folding Shelves

Using the previously removed 1/4” x 3/4”
button head screws, 1/4” x .11” spacers, and | |
1/4” flanged lock nuts, attach the upper shelf 1/4" X .11"

to the outer uprights. A 1/4” x .11” spacers NYLON SPACER
should be inserted between the inner uprights | |
and shelf side mounting brackets.

Snug tighten but allow movement.

= I E
11
J@v\ Jo | '
”@m«@\iﬁ\ s @ 0 l
A

If assembling only one shelving unit by itself, use a 1/4” x 2-1/8” button head screw, a 1/4” x 1.26” nylon
spacer, two 1/4” washers, and a 1/4” flanged lock nut to bolt through the shelf side mounting bracket,
outer upright, and inner upright. Be sure button head is towards shelf. Be sure to use appropriate nylon

spacer to ensure shelf loading stability.
lii

T,

1/4” X 1.04”
NYLON SPACER

Page 9



ARGO ASTER

L SR v Installation Instructions — Folding Shelves

e If connecting more than one set of shelves together side-by-side, use a 1/4” x 3/4” button head screw
and 1/4” lock nut to secure the shelf to the upright. It is recommended to then install the 1/4” x 2-1/8”
button head screw, a 1/4” x 1.26” nylon spacer, and 1/4” flanged lock nut in a location that does not
interfere with operation of the shelves to provide additional stability.

e Snug tighten but allow movement.

e Repeat steps on opposite side.

b

?%

(o =1 || — )

&

O

i) | :

n

Step 7 — Install Upper and Lower Mounts to Vehicle

e Using 1-1/4” hex head bolts, 1/4” lock washers, and 1/4” flat washers, bolt
shelf to previously installed plus nuts.

e If a gap exists between partition and floor, insert a 3/8” nylon washer
under lower mount to bridge gap between as necessary.

e Snug tighten but allow movement.

e Verify shelves open and close
smoothly. Loosen and adjust
fasteners until shelves operate

properly.




GO STER
AR A Installation Instructions — Folding Shelves

WE PUT EVERYTHING WITHIN REACH.

Step 8 — Install Mid-shelf Mounting Brackets _

Using two 1/4” x 3/4” button head screws, two 1/4” washers, and

[ J
two 1/4” lock nuts, bolt a knock down upper mount to a knock

down connecting strap.

Snug tighten but allow movement.

[ J
Determine installation location on mid panel of van wall.

[
Mark through two of the slots in the knock down upper mount

[
onto wall. The two marked in illustration are for example only.

At each marked location, install a plus nut per the plus nut
installation instructions in the previous step.

Using 1-1/4” hex head bolts, 1/4” lock washers, and 1/4” flat
washers, bolt upper knock down mount to previously installed

plus nuts.
e Loosely tighten but allow movement.

| ==
e Using one 1/4” x 2-1/4” hex head screw, one 1/4” flat washer, one

1/4” x 1.26” nylon spacer, and one 1/4” flanged lock nut, bolt
knock down brackets to upright.

e Repeat steps on opposite side.
0

1/4” X 1.26”
NYLON SPACER

Verify shelves open and close smoothly. Loosen and adjust fasteners until shelves operate properly.

GO BACK AND TIGHTEN ALL HARDWARE.
INSTALLATION AND ASSEMBLY ARE COMPLETE.

Learn more about commercial van equipment on our website.


https://www.carid.com/commercial-van-equipment.html



